

$$\begin{array}{c}
 \overline{(Bfalse) \Downarrow (Bfalse)}^{\text{Eval-bfalse}} \quad \overline{(Num\ 2) \Downarrow (Num\ 2)}^{\text{Eval-num}} \\
 \overline{(Ite\ (Bfalse)\ (Num\ 1)\ (Num\ 2)) \Downarrow (Num\ 2)}^{\text{Eval-ite-false}} \quad \overline{eIte \Downarrow (Num\ 2)}^{\checkmark} \\
 \underbrace{(Pair\ (Ite\ (Bfalse)\ (Num\ 1)\ (Num\ 2))\ (Ite\ (Bfalse)\ (Num\ 1)\ (Num\ 2))) \Downarrow (Pair\ (Num\ 2)\ (Num\ 2))}_{eIte} \quad \underbrace{(Pair\ (Num\ 2)\ (Num\ 2))}_{ePair}
 \end{array}$$

$e1 = \text{Pair } eIte\ ePair$

$$\begin{array}{c}
 \overline{e1 \Downarrow (Lam\ y\ num\ (Pair\ (Id\ y)\ (Id\ y)))}^{\text{Eval-lam}} = \overline{(Pair\ e2\ e2) \Downarrow (Pair\ e2\ e2)}^{\checkmark} \\
 \overline{(App\ (Lam\ y\ num\ (Pair\ (Id\ y)\ (Id\ y)))\ (Ite\ (Bfalse)\ (Num\ 1)\ (Num\ 2))) \Downarrow (Pair\ e2\ e2)}^{\text{Eval-app}} \\
 \underbrace{(Ite\ (Bfalse)\ (Num\ 1)\ (Num\ 2))}_{e2} \quad \underbrace{(Pair\ e2\ e2)}_{ePair}
 \end{array}$$

$$\begin{array}{c}
 \text{A} \rightarrow \text{B} \\
 \hline
 \Gamma(g) \Rightarrow (\text{num} * \text{num}) \rightarrow \text{bool} \\
 \hline
 \Gamma \vdash (\text{Id } g) : (\text{num} * \text{num}) \rightarrow \text{bool} \quad \text{Type-bool} \\
 \hline
 g : (\text{num} * \text{num}) \rightarrow \text{bool}, \emptyset \vdash (\text{App } (\text{Id } g) (\text{Pair } (\text{Num } 1) (\text{Num } 2))) : \text{bool} \dots \quad \text{Type-app}
 \end{array}$$

Γ
 $\text{A} = \text{num} * \text{num}$
 $\text{B} = \text{bool}$

Label typing
contacts to avoid writing
them out in every premise

You can also label
expressions.
But don't mix different
e1s or e2s in the
same derivation.

$$\begin{array}{c}
 \text{Type-num} \\
 \hline
 \emptyset \vdash (\text{Num } 1) : \text{num} \quad z : \text{num}, \emptyset \vdash (\text{Id } z) : \text{num} \\
 \hline
 \emptyset \vdash (\text{Let } \underbrace{x}_{\text{Type-num}} \underbrace{(\text{Num } 1)}_e \underbrace{(\text{Id } z)}_{e\text{Body}}) : \text{num}
 \end{array}$$

$$\begin{array}{c}
 \text{Type-num} \\
 \hline
 \Gamma_{xy} \vdash (\text{Num } 1) : \text{num} \quad \Gamma_{xyz} \vdash (\text{Id } z) : \text{num} \\
 \hline
 x : \text{num}, y : \text{bool}, \emptyset \vdash (\text{Let } z (\text{Num } 1) (\text{Id } z)) : \text{num} \\
 \hline
 \Gamma_{xy}
 \end{array}$$

$\Gamma_{xyz} = z : \text{num}, \Gamma_{xy}$